é @ % Multipliser desimaler med ti

StudentName: __ ExamDate: __ ExamScore: ____
2,473 x 10000 = 1,552 x 1000000 =
1,906 x 10 = 3,431 x 10000 =
9, 545 x 1000000 = 8, 025 x 1000000 =
6, 872 x 1000000 = 7,022 x 1000 =
6,21 x 100 = 5,626 x 10000 =
8,094 x 1000 = 8, 13 x 100 =
2,305 x 100000 = 2,426 x 10 =
5,472 %10 = 10,932 x 10 =
10,313 x 10 = 6,277 x 1000000 =
6, 638 x 1000 = 10, 636 x 1000 =
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Multipliser desimaler med ti

StudentName:

2,473 x 10000 = 24730

1,906 x 10 = 19.06

9, 545 x 1000000 = 9545000

6, 872 x 1000000 = 6872000

6,21 x 100 = 621

8,094 x 1000 = 8094

2,305 x 100000 = 230500

5,472 x 10 =54.72

10,313 x 10 = 103.13

6, 638 x 1000 = 6638

ExamDate: ExamScore:

1, 552 x 1000000 = 1552000

3,431 x 10000 = 34310

8,025 x 1000000 = 8025000

7,022 x 1000 = 7022

5,626 x 10000 = 56260

8,13 x 100 = 813

2,426 x 10 = 24.26

10,932 x 10 = 109.32

6, 277 x 1000000 = 6277000

10,636 x 1000 = 10636
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